COUNTY OF ULSTER

Jen Metzger County Executive



ULSTER COUNTY PURCHASING DEPARTMENT ED JORDAN Director of Purchasing

CONTRACT AWARD INFORMATION

Title:	GUIDE RAIL MATERIALS, NEW AND USED
Bid No.:	<i>RFB-UC23-015</i>
Contract Period:	MAY 1, 2023 – APRIL 30, 2024
Extension:	MAY 1, 2024-APRIL 30, 2026 (All Possible Extensions Exercised)
Authorized Users:	COUNTY OF ULSTER DEPARTMENTS, POLITICAL SUBDIVISIONS AND OTHERS AUTHORIZED BY LAW
View Specifications	at: http://www.empirestatebidsystem.com/
Submit Inquiries to:	
Name:	Brenden Boughton, Principal Buyer
Phone:	845-340-3999
Fax:	845-340-3434

Email: <u>bbou@co.ulster.ny.us</u>

BID DESCRIPTION

The purpose of this bid is to establish a price for the purchase, as needed, of new and used Galvanized Corrugated Beam Type and Box Beam Type Guide Rail by the Ulster County Department of Highway and Bridges.

AWARDED VENDOR	VENDOR INFORMATION NAME/ADDRESS/CONTACT	Phone/Fax/Email
CHEMUNG SUPPLY	CARL PERINE CHEMUNG SUPPLY PO BOX 527 ELMIRA, NY 14902	Ph. 607-733-5506 Fax 607-732-5379

COUNTY OF ULSTER

JEN METZGER County Executive PURCHASING DEPARTMENT 100 DEVELOPMENT COURT, PO BOX 1800 KINGSTON, NEW YORK 12402 (845) 340-3400/FAX (845) 340-3434



December 27th, 2024

Carl H. Perine Chemung Supply Corp. P.O. Box 527 Elmira, NY 14902

Sent Via Email to: cperine@chemungsupply.com

RE: RFB-UC23-015 GUIDE RAIL MATERIALS

Dear Mr. Perine:

The contract between your company and Ulster County for the above-mentioned bid is set to expire 4/30/25.

By mutual agreement of the County of Ulster Department of Department of Public Works and Chemung Supply Corp. this contract may be extended for one (1) additional one (1) year periods. Per the above, the County of Ulster wishes to exercise this option and extend the contract for an additional one-year term beginning May 1, 2025 and expiring on April 30, 2026. Purchase orders will be issued on an "as needed" basis.

Please sign this letter below, indicating that you have received notification of the extension and return it to our office at the above address.

If there are any questions, please contact the Ulster County Purchasing Department, at (845) 340-3400. Sincerely,

COUNTY OF ULSTER	
By Soll	
Ed Jordan	
Director of Purchasing	
ACCEPTANCE BY CONTRACTOR	
Receipt of the above Notice of Aw	ard is hereby acknowledged
Ву:	on this 27th day of December, 2024
By: Carl H Perine	Vice President
Print name	Title

EDWARD M. JORDAN Director of Purchasing

PETER J. ESPOSITO Deputy Director of Purchasing

COUNTY OF ULSTER – PURCHASING DEPARTMENT			
100 DEVELOPMENT COURT, KINGSTON, NY 12401			
PHONE: 845-340-3400 / FAX: 845-340-3434 / WEB: www.ulstercountyny.gov/purchasing			
	BID NAME: GUIDE RAIL MATERIALS, NEW & USED	BID NO. RFB-UC23-015	- 23 -

BIDDER Chemung Supply Corp

PRICE FORMS SECTION A - <u>NEW</u> GUIDE RAIL

-

	SECTION A - <u>N</u>	<u>EW</u> GUIDE RAIL		EST. ANNUAL	<u>NEW</u> PRICE	
ITEM	ITEM NAME	DESCRIPTION	<u>UNIT</u>	USAGE	EACH UNIT	EXTENSION
1 N	CORRUGATED INTERMEDIATE RAILS	STANDARD LENGTH 13' 6 1/2"	LGTH	1,000	\$ 213.72	<u>\$</u> 213,720.00
2 N	CORRUGATED TERMINAL RAIL	STANDARD LENGTH 13' 6 1/2" (SHEET 606-7) W/10-1"DIA HOLES AT 3" OC	LGTH	500	237.93	118,965.00
3 N	CORRUGATED CURVED DRIVEWAY END	STD LGT 13' 6 1/2" SHOP CURVED W/10-1" DIA HOLES 3" OC SHT 606-7	LGTH	100	273.80	27,380.00
4 N	GALVANIZED TERMINAL SECTION	SHEET 606-7	EACH	10	99.85	998.50
5 N	GALVANIZED SPLICE BOLT W/NUT	5/8" DIA X 1 1/4" SHEET 606-7	SET	1000	1.85	1,850.00
6 N	GALVANIZED POST BOLTS	5/16" DIA X 1 3/4" W/NUT & 1 3/4" X 1 3/4" #10 SQ WASHER SHEET 606-7	SET	1000	1.85	1,850.00
7 N	GALVANIZED SUPPORT BOLTS W/2 NUTS	1/2" DIA X 1 1/2" SHEET 606-7	SET	1000	1.85	1,850.00
8 N	GALVANIZED UNIVERSAL GUIDE POST	S3X5.7 POST 5'5" SHEET 606-4	EACH	200	99.70	19,940.00
9 N	CURVED GUIDE RAIL	RADIUS OF 50 FT. & OVER	FOOT	100	22.60'	2,260.00
10 N	CURVED GUIDE RAIL	RADIUS OF 40 FT 49 FT.	FOOT	100	22.60	2,260.00
11 N	CURVED GUIDE RAIL	RADIUS OF 30 FT - 39 FT	FOOT	100	23.18	2,318.00
12 N	CURVED GUIDE RAIL	RADIUS OF 20 FT - 29 FT	FOOT	100	23.55	2,355.00

COUNTY OF ULSTER – PURCH 100 DEVELOPMENT COURT,		
PHONE: 845-340-3400 / FAX: 845-340-3434 / WI		g
BID NAME: GUIDE RAIL MATERIALS, NEW & USED	BID NO. RFB-UC23-015	- 24 -

BIDDER Chemung Supply Corp

SECTION A - <u>NEW</u> GUIDE RAIL (CONTINUED)

<u>ITEM</u>	ITEM NAME	DESCRIPTION	<u>UNIT</u>	EST. ANNUAL <u>USAGE</u>	<u>NEW</u> PRICE <u>EACH</u> UNIT	EXTENSION
13 N	CURVED GUIDE RAIL	RADIUS OF 10 FT - 19 FT	FOOT	100	23.80	2,380.00
14 N	BOX BEAM GUIDE RAIL	STRAIGHT SECTIONS L=24' 0"	FOOT	1000	47.70	47,700.00
15 N	BOX BEAM GUIDE RAIL	SHOP CURVED CUT & WELDED	FOOT	500	71.70	35,850.00
16 N	BOX BEAM GUIDE RAIL	SHOP CURVED APPROACH SECTION L=24' 0" RAD=205.5'	FOOT	200	48.65	9,730.00
17 N	SPLICE PLATES, SET OF 2	SHEET 606-4	SET	100	159.10	15,910.00
18 N	END ASSEMBLY UNITS INCLUDING SHORT POST & ANGLE CLIP	SHEET 606-4	SET	10	894.00	8,940.00
19 N	GALVANIZED ANGLE	5"X3 1/2" X 3/8" X 4 1/2" LONG W3"X7/16"SLOT SHEET 606-4	EACH	15	19.80	297.00
20 N	GALVANIZED SPLICE BOLT W/WASHER	3/4" X 1-1/2" BOLT, WASHER A 325 GRADE, GALVANIZED	SET	200	3.27	654.00
21 N	RAIL MOUNTING BOLT W/NUT & WASHER	3/8" X 7-1/2" BOLT, NUT & WASHER A 307 GRADE, GALV.	SET	200	2.39	478.00
22 N	ANGLE PLATE BOLT 1/2" X 1-1/2" W/NUT & WASHER	BOLT, NUT, & WASHER A 307 GRADE, GALV	SET	200	2.33	466.00

COUNTY OF ULSTER – PURCH 100 DEVELOPMENT COURT,	KINGSTON, NY 12401	
100 DEVELOPMENT COURT, PHONE: 845-340-3400 / FAX: 845-340-3434 / WE	,	g
BID NAME: GUIDE RAIL MATERIALS, NEW & USED	BID NO. RFB-UC23-015	- 25 -

BIDDER Chemung Supply Corp

.

SECTION A - <u>NEW</u> GUIDE RAIL (continued)

<u>ITEM</u>	ITEM NAME	DESCRIPTION		EST. ANNUAL <u>USAGE</u>	<u>NEW</u> PRICE EACH UNIT	EXTENSION
23 N	CONCRETE ANCHORS	NYS DOT APPROVED CONCRETE ANCHORS- SHEET 606-7	EACH	50	\$644.60	\$ 32,230.00
24 N	HEAVY POSTS	W6 X 8.6# X 5'6"	EACH	250	101.60	25,400.00
25 N	HEAVY POSTS WITH SOIL PLATES	W6 X 8.6# X 5'6" W/24" SOIL PLATE	EACH	500	105.17	52,585.00
26 N	TURN DOWN BRACKETS	"A", "B", "C" BRACKETS PER 606-9R2	SET	50	179.30	8,965.00

GRAND TOTAL of SECTION A - <u>NEW</u> GUIDE RAIL \$_____

SIGNATURE

Carl H Perine

COUNTY OF ULSTER – PURCH	ASING DEPARTMENT	
100 DEVELOPMENT COURT, K	INGSTON, NY 12401	
PHONE: 845-340-3400 / FAX: 845-340-3434 / WEB	3: www.ulstercountyny.gov/purchasir	ng
BID NAME: GUIDE RAIL MATERIALS, NEW & USED	BID NO. RFB-UC23-015	- 26 -

EST.

<u>USED</u>

SECTION B - USED GUIDE RAIL

<u>ITEM</u>	ITEM NAME	DESCRIPTION	<u>UNIT</u>	ANNUAL <u>USAGE</u>	PRICE EACH UNIT	EXTENSION
1 U	CORRUGATED INTERMEDIATE RAILS	STANDARD LENGTH 13' 6 1/2"	LGTH	1,000	<u></u> \$ 85.10	\$ 85,100.00
2 U	CORRUGATED TERMINAL RAIL	STANDARD LENGTH 13' 6 1/2" (SHEET 606-7) W/10-1"DIA HOLES AT 3" OC	LGTH	500	68.40	34,200.00
3 U	CORRUGATED CURVED DRIVEWAY END	STD LGT 13' 6 1/2" SHOP CURVED W/10-1" DIA HOLES 3" OC SHT 606-7	LGTH	100	36.50	3,650.00
4 U	GALVANIZED TERMINAL SECTION	SHEET 606-7	EACH	10	26.25	262.50
5 U	GALVANIZED SPLICE BOLT W/NUT	5/8" DIA X 1 1/4" SHEET 606-7	SET	1000	1.85	1,850.00
6 U	GALVANIZED POST BOLTS	5/16" DIA X 1 3/4" W/NUT & 1 3/4" X 1 3/4" #10 SQ WASHER SHEET 606-7	SET	1000	1.85	1,850.00
7 U	GALVANIZED SUPPORT BOLTS W/2 NUTS	1/2" DIA X 1 1/2" SHEET 606-7	SET	1000	1.85	1,850.00
8 U	GALVANIZED UNIVERSAL GUIDE POST	S3X5.7 POST 5'5" SHEET 606-4	EACH	200	55.70	11,140.00
9 U	CURVED GUIDE RAIL	RADIUS OF 50 FT. & OVER	FOOT	100	1.14	114.00
10 U	CURVED GUIDE RAIL	RADIUS OF 40 FT 49 FT.	FOOT	100	1.14	114.00

COUNTY OF ULSTER – PURCHASING DEPARTMENT			
100 DEVELOPMENT COURT, KINGSTON, NY 12401			
PHONE: 845-340-3400 / FAX: 845-340-3434 / WEB: www.ulstercountyny.gov/purchasing			
BID NAME: GUIDE RAIL MATERIALS, NEW & USED BID NO. RFB-UC23-015 - 27 -			

EST.

<u>USED</u>

SECTION B - <u>USED</u> GUIDE RAIL(continued)

Ļ

·····

<u>ITEM</u>	ITEM NAME	DESCRIPTION	<u>UNIT</u>	ANNUAL <u>USAGE</u>	PRICE EACH UNIT	EXTENSION
11 U	CURVED GUIDE RAIL	RADIUS OF 30 FT - 39 FT	FOOT	100	\$ 1.99	_{\$} 199.00
12 U	CURVED GUIDE RAIL	RADIUS OF 20 FT - 29 FT	FOOT	100	1.99	199.00
13 U	CURVED GUIDE RAIL	RADIUS OF 10 FT - 19 FT	FOOT	100	1.99	199.00
14 U	BOX BEAM GUIDE RAIL	STRAIGHT SECTIONS L=24' 0"	FOOT	1000	11.24	11,240.00
15 U	BOX BEAM GUIDE RAIL	SHOP CURVED CUT & WELDED	FOOT	500	3.30	1,650.00
16 U	BOX BEAM GUIDE RAIL	SHOP CURVED APPROACH SECTION L=24' 0" RAD=205.5'	FOOT	200	4.04	808.00
17 U	SPLICE PLATES, SET OF 2	SHEET 606-4	SET	100	45.30	4,530.00
18 U	END ASSEMBLY UNITS INCLUDING SHORT POST & ANGLE CLIP	SHEET 606-4	SET	10	137.10	1,371.00
19 U	GALVANIZED ANGLE	5"X3 1/2" X 3/8" X 4 1/2" LONG W3"X7/16"SLOT SHEET 606-4	EACH	15	12.10	181.500

COUNTY OF ULSTER – PURCHASING DEPARTMENT 100 DEVELOPMENT COURT, KINGSTON, NY 12401 PHONE: 845-340-3400 / FAX: 845-340-3434 / WEB: www.ulstercountyny.gov/purchasing				
BID NAME: GUIDE RAIL MATERIALS, NEW & USED	BID NO. RFB-UC23-015	- 28 -		

and the second sec

SECTION B - <u>USED</u> GUIDE RAIL (continued)

<u>ITEM</u>	ITEM NAME	DESCRIPTION	<u>UNIT</u>	EST. ANNUAL <u>USAGE</u>	<u>USED</u> PRICE EACH UNIT	EXTENSION
20 U	GALVANIZED SPLICE BOLT W/WASHER	3/4" X 1-1/2" BOLT, WASHER A 325 GRADE, GALVANIZED	SE	T 200	1.85	370.00
21 U	RAIL MOUNTING BOLT W/NUT & WASHER	3/8" X 7-1/2" BOLT, NUT & WASHER A 36 GRADE, GALV.	07 SE	T 200	1.85	370.00
22 U	ANGLE PLATE BOLT 1/2" X 1-1/2" W/NUT & WASHER	BOLT, NUT, & WASHER A 307 GRADE, GALV	SE	T 200	2.31	462.00
23 U	CONCRETE ANCHORS	NYS DOT APPROVED CONCRETE ANCHORS- SHEET 606-7	EAC	CH 50	144.00	7,200.00
24 U	HEAVY POSTS	W6 X 8.6# X 5'6"	EAC	CH 250	61.74	3,087.00
25 U	HEAVY POSTS WITH SOIL PLATES	W6 X 8.6# X 5'6" W/24" SOIL PLATE	EAC	CH 500	22.03	11,015.00
26 U	TURN DOWN BRACKETS	"A", "B", "C" BRACKETS PER 606-9R2	SE	T 50	12.20	610.00

GRAND TOTAL of SECTION B - USED GUIDE RAIL \$

SIGNATURE

Carl H Perine

COUNTY OF ULSTER – PURCHASING DEPARTMENT 100 DEVELOPMENT COURT, KINGSTON, NY 12401					
PHONE: 845-340-3400 / FAX: 845-340-3434 / WEB: www.ulstercountyny.gov/purchasing					
BID NAME: GUIDE RAIL MATERIALS, NEW & USED	BID NO. RFB-UC23-015	- 29 -			

.

SECTION C -TWO RAIL TRANSITION UNITS FABRICATED PER DRAWING SPECIFICATIONS

<u>ITEM</u>	ITEM NAME	DESCRIPTION UNI	ANNI <u>USA</u>	IUAL PRICE	
27	TRANSITION UNITS	PER DRAWING UC4GR EACH	1 25	5	_

SIGNATURE_____

Carl H Perine

FOT